K49-MILINO_MEDIUM_A

2850 mm
I ————
[
I
0
%
e
N -
_ —_—
c |
E 65
© &
(2]
Te]
———— | |s68mm| _
[
~N

4 &{{‘u;) ‘:{};5 ! i i’ ﬁi .
PRI Sodl | 47 L g o
EEEEEE gege Y- N (Al

P28-K49-DBGDL_285_L-M_IN27-A-KOR01-TSZT01. clw



K49-MILINO_MEDIUM_A

Ol ¢ SR A A

1 K49-D2S/45/90/SWN K49-D2S/45/90/SWN 1/5 1 1042 592 |x
K49-D2S/45/90/SWN 2/5 1 611 481
Y00-03-SMSS_H80/450 3/5 1 531 150
Y00-03-SMSS_H150/450 4/5 1 526 |225
Y00-03-SMSS_H150/450 5/5 1 526 |225

2 K49-DPSB/60/90 K49-DPSB/60/90 1/3 1 1004 595 |x
K49-DPSB/60/90 2/3 1 701 150
Y00-03-SMSS_H80/450 3/3 1 531 150

3 K49-DM/60/80 K49-DM/60/80 1 949 1622 |x

4 K49-DK60/90 K49-DK/60/90 1/2 1 1056 596 |x
K49-DK/60/90 2/2 1 845 603

5 K49-G1D/45/80 K49-G1D/45/80 1/2 1 890 J458 |x
K49-G1D/45/80 2/2 1 845 1453

6 K49-G1D0O/60/80 K49-G1D/60/80 1/2 1 934 609 [x
K49-G1D0/60/80 2/2 1 895 608

7 K49-G1D/60/80 K49-G1D/60/80 1/2 2 934 609 |x
K49-G1D/60/80 2/2 2 845 1603
8 K49-BLA/225/60 K49-BLA/225/60 1/1 1 2310 J606
9 K49-COK/225 K49-COK/225 1/1 1 2335 |126
10 K49-DL/60/230 K49-DL/60/230 1/3 1 2402 624

K49-DL/60/230 2/3 1 782 |531 X
K49-DL/60/230 3/3 1 1250 |625
11 K49-WK_RIGO_450 K49-WK_RIGO_450 1/1 1 456 J415

D
I
® ® @ @
]
©
;
T T— —
@
@ ®
é
N N BN

2/9

P28-K49-DBGDL_285_L-M_IN27-A-KOR01-TSZT01



2X
@5x23 mm 145\2

4x
jas\1

M4x12 mm

1
&%
%

® oo\

;%N . - j45\1

= j45\1

I ————

JS\L Tl jas\2

T |
j45\1 j45\2  j45\1

- ===
U.._. o

| BEEN g
R g/ O)

. Ph150

"
"
"
H
P
.

~b  J

P28-K49-DBGDL_285_L-M_IN27-A-KOR01-TSZT01.idw

3/9



8x %@

osaomn P21 ostemm P13

bSmm
B

E;

e ———————————
4/9 P28-K49-DBGDL_285_L-M_IN27-A-KOR01-TSZT01




4

30 mm 390 mm g) mm 540 mm g) mm 540 mm g) mm 540 mm SQmm
=
=
€
™
(o2
«®
IS
IS
Al
o
(e}
£ iy
oy i3
oy i3
P [= } i p d

P28-K49-DBGDL_285_L-M_IN27-A-KOR01-TSZT01

5/9



2X
@5x23 mm 145\2

4x
j45\1

M4x12 mm

5
o [ ® ®
%ﬂ .

| | .. j45\1

polm ==t T ee——ma :

ZE R R | S el | R :

e N [ e S
N ———————

-

j45\1 j45\2  j45\1

jap\t || 1992 | jas\1

o

2X
@5x23 mm 145\2

4x
jas\1

M4x12 mm

\ =

6
o ™% @ @
%

L I

N — | .

_/0 : 0

— T 45\t Lo
S P | N DU | R 7(-\V

LAV j45\2

(—— ) )

j45\1 j45\2 j45\1| i
\

g SO i S

j45\1. j45\2 j45\1

— e

6/9 P28-K49-DBGDL_285_L-M_IN27-A-KOR01-TSZT01.idw



4x 2X

jas\1

M4x12 mm @5x23 mm

j45\2

v

]

j45\1. _ L.
| = S
45\1

H— =

j45\2

1
F——— == 45\

=\

7/9

ch 5mm

|
j45\1 j45\2  j45\1
*‘U =z I~ .
j4p\ J'i‘5\2 {45\

P28-K49-DBGDL_285_L-M_IN27-A-KOR01-TSZT01




8 iy =y Y N

Mdx12 mm jas1 o
4x ]

== 45\ [::
oscamm  145\2 ¥

e m——
j45\1  ja5\2

- W fesm
U.‘ﬁ

jab\1 || 145\2

- | fe=—t

—| et

5x 5x 1x
ﬁrlg'Eiiwz «mma ,,ff’ﬁffi

l @3.5x15 mm p51 1-2250 mm S1 00\1 3

p51 .

P 9 | K49-4011 | 2251 9% | 1

=

s100\13

8/9 P28-K49-DBGDL_285_L-M_IN27-A-KOR01-TSZT01.idw



10

9/9

P28-K49-DBGDL_285_L-M_IN27-A-KOR01-TSZT01.idw



